Q1.
What is the distinction between a positive statement and a normative statement?  Provide an example of each type of statement.
A:

Normative economic analysis refers to economic statements or theories that cannot be empirically proven whereas positive economic analysis refers to economic statements or theories that can be empirically proven. For example "a ban in smoking in public places will reduce the revenue of the tobacco industry" is a positive statement because you can collect data to prove whther it is true or false. On the other hand, the statement "unemployment is preferable to inflation" is a normative statement because it reflects a personal belief and thus cannot be verified or falsified

Positive statements are statements that attempt to describe the world as it is while Normative statements (prescriptive statements) are statements which states how the world should be. Normative statements often provides solutions to current economic problems.

Ex:

Positive: Smoking is bad for our health

Normative: The government should ban smoking.

Q2.
What is the ceteris paribus assumption and how is it used?

Ceteris paribus or caeteris paribus is a Latin phrase, literally translated as "with other things the same," or "all other things being equal or held constant." It is an example of an ablative absolute and is commonly rendered in English as "all other things being equal." A prediction, or a statement about causal or logical connections between two states of affairs, is qualified by ceteris paribus in order to acknowledge, and to rule out, the possibility of other factors that could override the relationship between the antecedent and the consequent.
A ceteris paribus assumption is often fundamental to the predictive purpose of scientific inquiry. In order to formulate scientific laws, it is usually necessary to rule out factors which interfere with examining a specific causal relationship. Under scientific experiments, the ceteris paribus assumption is realized when a scientist controls for all of the independent variables other than the one under study, so that the effect of a single independent variable on the dependent variable can be isolated. By holding all the other relevant factors constant, a scientist is able to focus on the unique effects of a given factor in a complex causal situation.

Such assumptions are also relevant to the descriptive purpose of modeling a theory. In such circumstances, analysts such as physicists, economists, and behavioral psychologists apply simplifying assumptions in order to devise or explain an analytical framework that does not necessarily prove cause and effect but is still useful for describing fundamental concepts within a realm of inquiry.

 
Q3.
a.
How does the production possibilities frontier illustrate scarcity?
b.
How does the production possibilities frontier illustrate production efficiency?
c.
How does the production possibilities frontier show that every choice involves a trade off?
 

Recall that our model assumes scarcity of resources and, hence, scarcity of production. But how do we show scarcity in our simple graphical model? Scarcity is illustrated by the addition of what we will call a production possibility frontier (PPF) to our graph, as shown in Graph 2.

The PPF curve divides production space into 3 distinct areas, points on the PPF curve (points like B), points outside the curve (points like C), and points on the inside of the curve (points like A). Carefully consider the differences between the three types of points.

Scarcity is demonstrated by considering the difference between points like C, outside the frontier, and points like A and B, either on the frontier or on its interior. Points outside the frontier, like point C, are unattainable with the economy's current level of resources and technology. Points either on or inside the frontier, points like B and A, are attainable with the currently level of resources and technology. 

The addition of the PPF curve thus illustrates scarcity by dividing production space into attainable and unattainable levels of production. However, not just any PPF curve illustrates scarcity. Consider, for example, the upward sloping PPF curve in Graph 3. For this PPF curve, the production of more of both goods is attained by moving upward along the frontier. Hence, it is only with a downward sloping, finite PPF curve, where producing more of one good on the PPF curve can only occur by producing less of the second good, that scarcity is illustrated.

Technological Efficiency and Inefficiency 

As noted above, scarcity is illustrated by the existence of a downward sloping PPF curve, which divides production space into attainable and unattainable production combinations. However, what is the difference between the two types of attainable production combinations, points on the PPF curve (like point B in Graph 2) versus points inside the PPF curve (like point A)? 

At a point on the frontier, like point B, the only way to produce more of one good, such as guns, is to produce less of the other good. Since the economy cannot produce more of both goods, clearly, it must be producing the maximum possible output given its resources and technology. But this is exactly the definition for technological efficiency that was discussed in the previous chapter. Hence, we can conclude that if an economy is producing on its PPF curve then it must be technologically efficient. Furthermore, in order to produce the maximum output on the frontier, the economy must clearly be utilizing all of their resources. In other words, resources like labor must be fully employed at points like B on the frontier.

What, then, is the difference between points on the frontier and points, like A, on the interior of the PPF curve? Clearly, since points on the PPF curve are possible, the economy could produce more of both goods. Hence, it is clearly not producing the maximum amount of output given its resources. There are three possible reasons for the economy's failure to produce the maximum possible output, either 

the economy's production is technologically inefficient even though all resources are employed (i.e., resources are being wasted) or 

the economy is simply not utilizing all of their resources although the resources that are employed are used in a technologically efficient manner or 

both (1) and (2) are occurring simultaneously. 

As a result we can conclude that points on the frontier represent both technological efficiency and full employment of resources. However, points inside the frontier represent either technological inefficiency, unemployment of resources, or both inefficiency and unemployment.

Q4.
Why does the PPF for most goods bow outward so that opportunity cost increases as the quantity produced of a good increases?
Recall that opportunity cost is defined to equal the value of the next best alternative whenever a choice is made. Given scarcity, the PPF model demonstrates that choices must be made between the production of the two different goods, guns and butter, measured on the axes. This concept is illustrated by the PPF curve in Graph 4.

On the PPF curve, as is true of all downward-sloping PPF curves, this economy can only produce more of one good, such as guns, by decreasing the production of the other good, butter. But what is the opportunity cost of the decision to give up butter production in order to produce more guns? 

To answer this question first consider how much butter one would have to give up if one went from producing only butter, point A on the PPF curve, to producing only guns, point B on the PPF curve. In this case, one would gain the production of 100 guns but only by giving up the production of 100 pounds of butter. Thus, the opportunity cost of the 100 guns that we chose to produce equals the production of 100 pounds of butter that was given up as a result. But how much would it cost us to produce just one more gun, rather than 100 more that we chose to produce? We can calculate this by using a simple equation. We already know that:

1.           100 G = 100 B

But we want to find out, not how much 100 guns cost in terms of foregone butter, but how much 1 gun costs. To find this simply divide both sides of the above equation by 100 to get:

2.                 1 G = 1 B

Thus, we must give up 1 pound of butter for each extra gun we produce. The reverse is also true; we must give up 1 gun for each extra pound of butter we produce.

Now that we have the basics of determining opportunity cost for a PPF curve, let's try it again with a little more difficult PPF curve. Consider the PPF curve in Graph 5. Similar to the PPF curve in Graph 4 when all resources are devoted to producing butter, the maximum amount of butter that can be produced is 100 pounds. This is represented by point A on the graph. However, unlike Graph 4, the maximum number of guns that can be produced is only 50 guns, at point B. Thus, the production of each gun must require more productive resources in Graph 5. 

In this situation, what happens to the opportunity cost of guns and butter? The easiest way to calculate opportunity costs is to follow the exact same procedure we used to calculate them for the PPF curve in Graph 4. That is, move from the intercept of the PPF curve on the butter axis, where only butter is being produced (point A), to the intercept of the PPF curve on the guns axis, where only guns are being produced. When we move from point A to point B, we gain 50 guns but give up 100 pounds of butter. Hence, we can say that the opportunity cost of 50 guns is 100 pounds of butter, or in equation form:

3.              50 G = 100 B

To get the opportunity cost of one gun, instead of 50 guns, divide both sides of the equation by 50 which yields: 1 G = 2 B. Hence, on the PPF curve in Graph 5 every time we wish to increase our production of guns by 1 we must decrease our production of butter by 2 pounds. What is the opportunity cost of butter? To find this divide both sides of equation 3 by 100 to obtain: 1 B = ½ G. Thus, on the PPF curve in Graph 5 it we must give up the production of ½ a gun every time we increase our butter production by 1 pound. 

Notice that the opportunity costs are reciprocals (the reciprocal of x is 1/x.) This is always true for opportunity costs on linear PPF curves. Hence, if we had an additional PPF curve where we found that 1 gun cost 4 pounds of butter, we would know that 1 pound of butter must cost ¼ of a gun. Furthermore, along a linear PPF curve, the opportunity costs remain constant. Hence, in Graph 5, one extra gun always costs two pounds of butter.

 
Q5.
The following events occur one at a time:
(i)
The price of crude oil rises.
(ii)
The price of a car rises.
(iii)
All speed limits on highways are abolished.
(iv)
Robots cut car production costs.
 
Which of these events will increase or decrease.
 
a.
The demand for gasoline?
b.
The supply of gasoline?
c.
The quantity of gasoline demanded?
d.
The quantity of gasoline supplied?
 
a.
The demand for gasoline?

(ii) and (iii) and (iv) change the demand for gasoline.

The demand for gasoline will change if the price of a car rises, all speed limits on highways are abolished, or robot production cuts the cost of producing a car. If the price of a car rises, the quantity of cars bought decrease and the demand for gasoline decreases. If all speed limits on highways are abolished, people will drive faster and use more gasoline. The demand for gasoline increases. If robot production plants lower the cost of producing a car, the supply of cars will increase. With no change in the demand for cars, the price of a car will fall and more cars will be bought. The demand for gasoline increases.

b.
The supply of gasoline?

(i) changes the supply of gasoline.

The supply of gasoline will change if the price of crude oil (a factor of production used in the production of gasoline) changes. If the price of crude oil rises, the cost of producing gasoline rises and the supply of gasoline decreases.

c.
The quantity of gasoline demanded?

(i) changes the quantity of gasoline demanded.

If the price of crude oil rises, the cost of producing gasoline rises and the supply of gasoline decreases. The demand for gasoline does not change. The price of gasoline rises and there is a movement up the demand curve for gasoline. The quantity of gasoline demanded decreases.

d.
The quantity of gasoline supplied?

(ii) and (iii) and (iv) change the quantity of gasoline supplied.

If the price of a car rises, the quantity of cars bought decrease so the demand for gasoline decreases. The supply of gasoline does not change. The price of gasoline falls and there is a movement down the supply curve of gasoline. The quantity of gasoline supplied decreases.

If all speed limits on highways are abolished, people will drive faster and use more gasoline. The demand for gasoline increases. The supply of gasoline does not change, so the price of gasoline rises and there is a movement up along the supply curve. The quantity of gasoline supplied increases.

If robot production plants lower the cost of producing a car, the supply of cars will increase. With no change in the demand for cars, the price of a car will fall and more cars will be bought. The demand for gasoline increases. The supply of gasoline does not change, so the price of gasoline rises and the quantity of gasoline supplied increases.

Q6.
Rain spoils the strawberry crop.  As a result the price rises from $4 to $6 a box and the quantity demanded decreases from 1000 to 600 boxes a week.  Over this price range:

a.
What is the price elasticity of demand?
b.
Describe the demand for strawberries?
a. What is the price elasticity of demand? 

The price elasticity of demand is 1.25. The price elasticity of  demand equals the percentage change in the quantity demanded  divided by the percentage change in the price. The price rises  from $4 to $6 a box, a rise of $2 a box. The average price is $5 a box. So the percentage change in the price is $2 divided by $5  and then multiplied by 100, which equals 40 percent. The quantity decreases from 1,000 to 600 boxes, a decrease of 400 boxes. The average  quantity  is  800  boxes.  So  the  percentage  change  in  quantity is  400  divided  by  800,  which  equals  50  percent.  The  price  elasticity of demand for strawberries is 50 percent divided by 40 percent, which equals 1.25. ($2÷$5) × 100 

b. Describe the demand for strawberries.  

The price elasticity of demand exceeds 1, so the demand for strawberries is elastic.

Q7.
The figure shows the demand for DVD rentals.
 
 a. Calculate the elasticity of demand when the price rises from $3 to $5 a DVD.
The price elasticity of demand is 2. When the price of a DVD rental rises from $3 to $5, the quantity demanded of DVDs decreases from 75 to 25 a day. The price elasticity of demand equals the percentage change in the quantity demanded divided by the percentage change in the price. The price increases from $3 to $5, an increase of $2 a DVD. The average price is $4 per DVD. So the percentage change in the price equals $2 divided by $4 and then multiplied by 100, which equals 50 percent. The quantity decreases from 75 to 25 DVDs, a decrease of 50 DVDs. The average quantity is 50 DVDs. So the percentage change in quantity equals 50 divided by 50 and then multiplied by 100, which equals 100 percent. The price elasticity of demand for DVD rentals equals 100 percent divided by 50 percent, which is 2.
b. At what price is the elasticity of demand for DVDs equal to 1?
The price elasticity of demand equals 1 at $3 a DVD. The price elasticity of demand equals 1 at the price halfway between the origin and the price at which the demand curve hits the y-axis. That price is $3 a DVD.
[image: image1.emf]
a.
Calculate the elasticity of demand when the price rises from $3 to $5 a DVD.
b.
At what price is the elasticity of demand equal to 1?
 
Q8.
What is utility and how do we use the concept of utility to describe a consumer’s preferences?
 

In economics, utility is a measure of customer satisfaction, referring to the total satisfaction received by a consumer from consuming a good or service.[1] Given this measure, one may speak meaningfully of increasing or decreasing utility, and thereby explain economic behavior in terms of attempts to increase one's utility. Utility is often modeled to be affected by consumption of various goods and services, possession of wealth and spending of leisure time.

The doctrine of utilitarianism saw the maximization of utility as a moral criterion for the organization of society. According to utilitarians, such as Jeremy Bentham (1748–1832) and John Stuart Mill (1806–1873), society should aim to maximize the total utility of individuals, aiming for "the greatest happiness for the greatest number of people". Another theory forwarded by John Rawls (1921–2002) would have society maximize the utility of those with the lowest utility, raising them up to create a more equitable distribution across society.

Utility is usually applied by economists in such constructs as the indifference curve, which plot the combination of commodities that an individual or a society would accept to maintain a given level of satisfaction. Individual utility and social utility can be construed as the value of a utility function and a social welfare function respectively. When coupled with production or commodity constraints, under some assumptions, these functions can be used to analyze Pareto efficiency, such as illustrated by Edgeworth boxes in contract curves. Such efficiency is a central concept in welfare economics.

In finance, utility is applied to generate an individual's price for an asset called the indifference price. Utility functions are also related to risk measures, with the most common example being the entropic risk measure.

Q9.
What is the distinction between total utility and marginal utility?

People buy goods because they get satisfaction from them. This satisfaction which the consumer experiences when he consumes a good, when measured as number of utils is called utility.
 

It is here to necessary to make a distinction between total utility and marginal utility.
 

Total Utility (TU):
 

Definition and Explanation: 
 

"Total utility is the total satisfaction obtained from all units of a particular commodity consumed over a period of time".
 

For example, a person consumes eggs and gains 50 utils of total utility. This total utility is the sum of utilities from the successive units (30 utils from the first egg, 15 utils from the second and 5 utils from the third egg).
 

Summing up total utility is the amount of satisfaction (utility) obtained from consuming a particular quantity of a good or service within a given time period. It is the sum of marginal utilities of each successive unit of consumption. 
 

Formula:
 

TUx = ∑MUx
 

Marginal Utility (MU):
 

Definition and Explanation:
 

"Marginal utility means an additional or incremental utility. Marginal utility is the change in the total utility that results from unit one unit change in consumption of the commodity within a given period of time".
 

For example, when a person increases the consumption of eggs from one egg to two eggs, the total utility increases from 30 utils to 45 utils. The marginal utility here would be the15 utils of the 2nd egg consumed.
 

Marginal utility, thus, can also be described as difference between total utility derived from one level of consumption and total utility derived from another level of consumption. 
 

Formula:
 

 MU = ∆TU
                                                                                    ∆Q
 

It may here be noted that as a person consumes more and more units of a commodity, the marginal utility of the additional units begins to diminish but the total utility goes on increasing at a diminishing rate.
 

When the marginal utility comes to zero or we say the point of satiety is reached, the total utility is the maximum. If consumption is increased further from this point of satiety, the marginal utility becomes negative and total utility begins to diminish.
 

The relationship between total utility and marginal utility is now explained with the help of following schedule and a graph.
 
Q10.
What is the law of diminishing returns?  Why does marginal product eventually diminish?
 

The Law Of Diminishing Marginal Returns•Total Product (TP) This is the total output produced by workers

•Marginal Product (MP) This is the output produced by an extra worker

Definition: Law of Diminishing Marginal Returns 

· Diminishing Returns occurs in the short run when one factor is fixed (e.g. Capital)

· If the variable factor of production is increased, there comes a point where it will become less productive and therefore there will eventually be a decreasing marginal and then average product

· This is because if capital is fixed extra workers will eventually get in each other’s way as they attempt to increase production. E.g. think about the effectiveness of extra workers in a small café. If more workers are employed production could increase but more and more slowly. 

· This law only applies in the short run because in the long run all factors are variable

· Assume the wage rate is £10, then an extra worker Costs £10.

· The Marginal Cost (MC) of a sandwich will be the Cost of the worker divided by the number of extra sandwiches that are produced

· Therefore as MP increases MC declines and vice versa

· A good example of Diminishing Returns includes the use of chemical fertilizers- a small quantity leads to a big increase in output. However, increasing its use further may lead to declining Marginal Product (MP) as the efficacy of the chemical declines.

Diagram of Diminishing Returns
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Q11.
Explain the relationship between marginal product and average product.  How does average product change when marginal product exceeds average product?  How does average product exceeds marginal product?  Why?

The distinction between the short run and long run revolves around the firm’s ability to change the quantity of inputs it employs. Specifically, the short run is a period of time in which the quantity of at least one input cannot be changed and the quantities of the other inputs can be varied. That is, in the short run, at least one input is fixed. In contrast, the long run is a period of time long enough for the firm to change the amount of all the inputs it employs. In the long run, no inputs are fixed. The amount of time to reach the "long run" is different in different industries. Hence no specific amount of time (e.g., 18 months) can be considered the short run for all industries.

4. The total product curve shows the maximum total output attainable from a given total amount of capital as the total amount of labor input is changed. In contrast are the characteristics of the marginal product and the average product curves, which are explored in the answers to the next four questions.

5. The marginal product curve shows the change in output resulting from a one-unit change in the amount of labor employed. 

6. The firm’s average product curve shows the firm’s total output divided by the total amount of labor used; that is, the average product is output per worker.

7. The marginal product curve is the slope of the total product curve. As long as total product increases with labor, the marginal product of labor is positive. If the total product curve rises at an increasing rate, the marginal product of labor curve is positive and rising. If the total product curve rises at a decreasing rate, the marginal product of labor curve is positive and falling.

8. The average product and marginal product are related via the standard average/marginal relationship: The average product increases when the marginal product exceeds the average product; the average product falls when the marginal product is smaller than the average product; and the average product is at its maximum and does not change when the marginal product equals the average product.

9. The law of diminishing returns states that as a firm uses more of a variable input without changing the quantity of fixed inputs, the marginal product of the variable input eventually diminishes. In other words, as more labor is combined with a fixed amount of capital, eventually the marginal product of labor falls.

The law of diminishing returns affects the shape of the total product, average product, and marginal product curves. When the firm is experiencing diminishing returns, the MP curve falls, as the marginal product of an additional worker falls short of the marginal product of the previous worker. As long as the marginal product of the worker is positive, the total product curve rises, but at a declining rate. Immediately after the firm experiences diminishing returns, the average product curve continues to rise, but at a declining rate. Eventually, as the marginal product curve continues to decline, the marginal product curve cuts the average product curve (when the average product is at its maximum). After that point, diminishing returns implies that the average product curve declines.

10. The point that the marginal product first rises and then falls reflects the inexorable economic law of diminishing returns. Initially, as a firm adds first one worker, then two, and so on, each additional worker’s marginal product probably will be higher than that of the previous one. Why? As additional workers are added, each one is allowed to specialize in different aspects of production. Such specialization enables the company to produce increasingly large additional amounts of output. After enough workers have been added, the gains from specialization grow smaller. At some point diminishing marginal returns sets in, so that the marginal product of additional workers is less than the marginal product of previous workers. Why does the marginal product diminish? As more and more are employed with a fixed capital stock, each employee is working with less capital. Eventually, as more workers are hired, crowding in the assembly process and bureaucratic inertia among managers come into play. When these conditions exist, diminishing returns have set in.

11. Total cost equals the costs of all the resources used by a firm. Total cost can be divided into total fixed cost and total variable cost. Total fixed cost is the cost of all the firm’s fixed inputs; this cost does not change when the level of output changes. Total variable cost is the cost of all the firm’s variable inputs; as the level of output changes, so too does total variable cost.

Q12.
How does monopoly arise?

A monopoly is an industry that produces a good or service for which no close substitute exists and in which there is one supplier that is protected from competition by a barrier preventing the entry of new firms.

A monopoly has two key features:

ß No close substitutes 

ß Barriers to entry

ß Legal or natural constraints that protect a firm from  potential competitors are called barriers to entry.

Two types of barriers to entry: legal and natural.

ß Legal barriers to entry create a legal monopoly, a market in which competition and entry are restricted 

by the granting of a:

ß Monopoly franchise (like Australia Post). 
ß Government license (like a license to practice law or medicine)

ß Patent and copyright

Natural barriers to entry create a natural monopoly, which is an industry in which one firm can supply the 

entire market at a lower price than two or more firms can. Example: Electric utility
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Q13.
How does a natural monopoly differ from a legal monopoly?
 

Monopolies can come about for a few different reasons. It may be that a certain resource ONLY comes from one location (example: helium/Amarillo Texas); it is easy then for one party to own and control the commodity.

Another model is that you have a complex product, that requires multiple processes, such as gasoline... those products become monopolies because it is so expensive to start up new companies that it becomes prohibitive. The companies that first put their processes together have a clear advantage, as it becomes ever more difficult for competeitors to enter the market.

The third model (related to the second), which is much in evidence in modern times, is that corporations buy up other companies and either subsume them completely, or bankrupt them to eliminate the competition altogether.

Monopoloies in media, mining, critical resource production and agriculture are serious problem in the modern world, and create the conditions in which the classic model of supply and demand becomes meaningless. A vertical economy is one in which there is never an opportunity for prices to consumers to go down. This is why we have constant creeping inflation and literally nothing ever becomes more affordable.

Q14.
a.
What is the distinction between real GDP and potential GDP?
b.
What is business cycle and what are its phases?
c.
What is a recession?
 

Nominal GDP: 

The GDP in that year's prices. For example, the 1981 GDP in 1981 dollars. Thus nominal GDP does not account for inflation. 

Real GDP: 

The number reached by valuing all the productive activity within the country at a specific year's prices. When economic activity of two or more time periods is valued at the same year's prices, the resulting figure allows comparison of purchasing power over time, since the effects of inflation have been removed by maintaining constant prices. 

GDP, or Gross Domestic Product is the value of all the goods and services produced in a country. The Nominal Gross Domestic Product measures the value of all the goods and services produced expressed in current prices. On the other hand, Real Gross Domestic Product measures the value of all the goods and services produced expressed in the prices of some base year. An example:

Suppose in the year 2000, the economy of a country produced $100 billion worth of goods and services based on year 2000 prices. Since we're using 2000 as a basis year, the nominal and real GDP are the same. In the year 2001, the economy produced $110B worth of goods and services based on year 2001 prices. Those same goods and services are instead valued at $105B if year 2000 prices are used. Then:

Year 2000 Nominal GDP = $100B, Real GDP = $100B

Year 2001 Nominal GDP = $110B, Real GDP = $105B

Nominal GDP Growth Rate = 10%

Real GDP Growth Rate = 5%

Once again, if inflation is positive, then the Nominal GDP and Nominal GDP Growth Rate will be less than their nominal counterparts. The difference between Nominal GDP and Real GDP is used to measure inflation in a statistic called The GDP Deflator.

The business cycle is the periodic but irregular up-and-down movements in economic activity, measured by fluctuations in real GDP and other macroeconomic variables. If you're looking for information on how various economic indicators and their relationship to the business cycle, please see A Beginner's Guide to Economic Indicators. Parkin and Bade go on to explain: A business cycle is not a regular, predictable, or repeating phenomenon like the swing of the pendulum of a clock. Its timing is random and, to a large degress, unpredictable. A business cycle is identified as a sequence of four phases: 

•Contraction: A slowdown in the pace of economic activity

•The lower turning point of a business cycle, where a contraction turns into an expansion

•Expansion: A speedup in the pace of economic activity

•Peak: The upper turning of a business cycle

What About Recessions?

A recession occurs if a contraction is severe enough... A deep trough is called a slump or a depression. The difference between a recession and a depression, which is not well-understood by non-economists, is explained in the article "Recession? Depression? What's the difference?". The following articles are also useful for understanding the business cycle, and why recessions happen:

Q15.
What are the benefits and the costs of long term economic growth?
The Benefits of Economic Growth 

According to the UK government, ‘a healthy economy leads to higher living standards and greater prosperity for individuals. It also helps businesses to be profitable, which generates employment and income’. This quote highlights some of the benefits of growth – developed further below:

Improvements in living standards: Growth is an important avenue through which better living standards and lower rates of poverty can be achieved. This is particularly true for countries who regard growth as a key route for poverty reduction among their population. According to a report published in August 2004 by the Asian Development Bank (ADB), rapid growth in many of the countries in the Asian region has reduced the number of people living on less than $1 a day fell to 22% of the region's population in 2002. That compares with 34% in 1990 and shows "considerable progress in the fight against poverty." 

Rising Employment: Growth stimulates higher employment. As we can see from the chart below, the sustained growth in the British economy since 1993 has helped to bring about a large rise in total employment, the number of people in work has risen from 2.53 million at the start of 1993 to nearly 29 million thirteen years later. This is a very impressive employment creation record, much better than most other countries in the European Union.

The accelerator effect of growth on capital investment: Rising AD and output encourages investment in capital machinery – this helps to sustain growth by increasing LRAS.

Greater business confidence: Growth has a positive impact on company profits & business confidence – good news for the stock market and for the growth of small and large businesses.

The “fiscal dividend” to the government: Government finances are cyclical in nature because a growing economy boosts the tax revenues flowing into the Treasury and it also provides the government with more money to finance spending projects. 

Potential environmental benefits – richer countries have more resources available to invest in cleaner technologies. And, as nations move to later stages of development, energy intensity levels start to fall. Much depends on how many resources an economy is willing to devote to environmental improvement and protection. Over the last thirty years, the ratio of energy consumption per unit of GDP has fallen quite significantly. The reduction in energy intensity is a reflection of improvements in production technologies and also a gradual switch towards a low carbon economy. Much more progress needs to be made. Organisations such as the Carbon Trust sponsor research into low carbon technologies and many environmental groups believe that greater investment should be made in alternative sources of energy. 

 
Q16.
What is the expenditure approach to measuring GDP?
GDP can be calculated by either adding up all of the expenditures on goods and services produced in the economy or by adding up all of the income received by labor and other inputs in the economy. These are the expenditure and income approaches to calculating GDP. 

The Expenditure Approach

The expenditure approach involves counting expenditures on goods and services by different groups in the economy. The four main components are consumption expenditures by households (C), gross private investment spending principally by firms (I), government purchases of goods and services (G), and net exports (exports minus imports EX - IM). Here is an equation that sums it up: 

GDP = C + I + G + (EX - IM)

As you can see, expenditures can be broken down into the four components given in the equation above. The largest is personal consumption spending by households on final goods and services. Households can buy durable goods, those that last for some period of time, such as motor vehicles and furniture, as listed in the table. In addition, households can purchase nondurable goods, which are goods not intended for long-term use, such as food, clothing, and gasoline. Households also purchase services, which are actions rather than physical items. Examples of services range from medical care, car repairs and other transportation expenses, to haircuts and tax preparation services. 

The second largest component of GDP consists of purchases by federal, state, and local governments on final goods and services. These purchases include spending on schools, roads, and military hardware. In addition, the wages of government employees are included because such employees are performing services in exchange for those wages. This category does not include income transfers, such as Social Security payments to retired persons, unemployment compensation, or welfare payments. 
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Q17.
What is the income approach to measuring GDP?
The expenditures on goods and services by consumers provide income for firms. Similarly, government expenditures on goods and services provide income for the firms supplying products and the workers supplying services. Thus, the flip side of the expenditure approach is to add together the income for different components of the economy. The components used in the income approach are illustrated in the following table: 

[image: image5.png]TABLE 6.3 Components of GDP, 2002: The Income Approach

BILLIONS OF PERCENTAGE
DoLiaRs. OF GoP.

et ncome 53001 795
Gomgersatn of empioees 11
Proprtorncome 2
Goponta s 75
ettt &5
Reral ncome 14

Deprecioton 13935 13

ndiect taves minus subsicies Te19 2

et fctor pymens 1o st of e wos. a5 o1

over 69 06

Goss domestc progct a2 00

[——3





As shown in the table above, the general approach to income accounting is to begin with national income. This consists of the compensation of employees (wages and salaries paid to households), proprietors’ income (the income of proprietorships and partnerships), corporate profits (the income of corporations), net interest (the interest paid by businesses), and rental income (the income received by property owners). This yields all the relevant income flowing to each segment of the economy. 

Once national income is determined, a few adjustments need to be made. First, depreciation is added because the replacement of physical capital (machinery, factories, buildings) in the economy that has undergone wear and tear over time is not included in national income. In addition, national income needs to be adjusted because of differences in how national income and GDP treat income earned by foreigners working in the United States, and income earned by United States citizens working abroad. National income includes income made by United States citizens who are abroad, but GDP does not. GDP includes income earned by foreigners working in the United States, but national income does not. Thus, payments made to United States citizens working abroad must be deducted from national income and the payments made to foreign citizens working in the United States must be added. These additions and subtractions are termed the net factor payments to the rest of the world in the table above. 

A couple of other minor adjustments still need to be made. First, the value of subsidies paid by the government (for example, payments made to farmers for not planting crops) is also deducted because no services are received in exchange for those payments. Finally, because indirect taxes (sales taxes, fees) are included in the price of goods and services in the expenditure approach, they should also be included in the income approach. Therefore, payments for indirect taxes are added to national income. 

 
Q18.
What makes something money?  What functions does money perform?  Why do you think packs of chewing gum don’t serve as money?
 
Q19.
(Aggregate demand)
 
Q20.
Q1 of Chapter-3 (7th edition) 
1. What is the distinction between a money price and a relative price?
1.
What is the distinction between a money price and a relative price?

The money price of a good is the dollar amount that must be paid for it. The relative price of a good is its money price expressed as a ratio to the money price of another good. Thus the relative price is the amount of the other good that must be foregone to purchase a unit of the first good. 

2.
Explain why a relative price is an opportunity cost.

The relative price of a good is the opportunity cost of buying that good because it shows how much of the next best alternative good must be forgone to buy a unit of the first good.

3.
Think of examples of goods whose relative price has risen or fallen by a large amount.

Some examples of items where both the money price and the relative price have risen over time are gasoline; college tuition; food. Some examples of items where both the money price and the relative price have fallen over time are personal computers; HD televisions; calculators.
1.
Define the quantity demanded of a good or service.

The quantity demanded of a good or service is the amount that consumers plan to buy during a given time period at a particular price.

2.
What is the law of demand and how do we illustrate it?

The law of demand states: “Other things remaining the same, the higher the price of a good, the smaller is the quantity demanded; and the lower the price of a good, the greater is the quantity demanded.” The law of demand is illustrated by a downward-sloping demand curve drawn with the quantity demanded on the horizontal axis and the price on the vertical axis. The slope is negative to show that the higher the price of a good, the lower is the quantity demanded and the lower the price of a good, the higher is the quantity demanded.

3.
What does the demand curve tell us about the price that consumers are willing to pay?

For any fixed quantity of a good available, the height of the demand curve shows the maximum price that consumers are willing to pay for that quantity of the good. The price on the demand curve at this quantity indicates the marginal benefit to consumers of the last unit consumed at that quantity.

4.
List all the influences on buying plans that change demand, and for each influence, say whether it increases or decreases demand. 

Influences that change the demand for a product include:


The prices of related goods. A rise (fall) in the price of a substitute increases (decreases) the demand for the first good. A rise (fall) in the price of a complement decreases (increases) the demand for the first good.


The expected future price of the good. A rise (fall) in the expected future price of a good increases (decreases) the demand in the current period.


Income. For a normal good, an increase (decrease) in income increases (decreases) the demand. For an inferior good, an increase in income decreases (increases) the demand.


Expected future income and credit. An increase (decrease) in expected future income or credit might increase (decrease) the demand.


The population. An increase (decrease) in population in the market increases (decreases) the demand 


People’s preferences. If people’s preferences for a good rise (fall), the demand increases (decreases).

5.
Why does demand not change when the price of a good changes with no change in the other influences on buying plans?

If the price of a good falls and nothing else changes, then the quantity of the good demanded increases and there is a movement upward  along the demand curve, but the demand for the good remains unchanged and the demand curve does not shift.

1.
Define the quantity supplied of a good or service.

The quantity supplied of a good or service is the amount of the good or service that firms plan to sell in a given period of time at a specified price.

2.
What is the law of supply and how do we illustrate it?

The law of supply states that “other things remaining the same, the higher the price of a good, the greater is the quantity supplied; and the lower the price of a good, the smaller is the quantity supplied.” The law of supply is illustrated by an upward-sloping supply curve drawn with the quantity supplied on the horizontal axis and the price on the vertical axis. The slope is positive to show that the higher the price of a good, the greater is the quantity supplied and the lower the price of a good, the smaller is the quantity supplied.

3.
What does the supply curve tell us about the producer’s minimum supply price?

For any quantity, the height of the supply curve shows the minimum price that suppliers must receive to produce that quantity of output. As a result, the price is the marginal cost of the last unit produced at this level of output.

4.
List all the influences on selling plans, and for each influence, say whether it changes supply.

Influences that change the supply of a good include:


Prices of factor of production. A rise (fall) in the price of a factor of production increases firms’ costs of production and decreases (increases) the supply of the good.


Prices of related goods produced. If the price of a substitute in production rises (falls), firms decrease their sales of the original good and the supply for the original good decreases (increases). A rise (fall) in the price of a complement in production increases (decreases) production of the original good, causing the supply of the original good to increase (decrease).


The expected future price of the product. A rise (fall) in the expected future price of the good causes suppliers to reduce (increase) the amount they sell today. This change in expectations decreases (increases) the supply in the current period.


The number of sellers. An increase (decrease) in the number of sellers in a market increases the quantity of the good available at every price, and increases (decreases) the supply.


Technology. An advance in technology increases the supply.


The state of nature. A good (bad) state of nature, such as good (bad) weather for agricultural products, increases (decreases) the supply.

5.
What happens to the quantity of cell phones supplied and the supply of cell phones if the price of a cell phone falls?

If the price of cell phones falls and nothing else changes, then the quantity of cell phones supplied will decrease and there will be a movement downward along the supply curve for cell phones. The supply of cell phones, however, will remain unchanged and the supply curve does not shift.

1.
What is the equilibrium price of a good or service?

The equilibrium price is the price at which the quantity demanded by the buyers is equal to the quantity supplied by the sellers.

2.
Over what range of prices does a shortage arise?

A shortage arises at market prices below the equilibrium price.

3.
Over what range of prices does a surplus arise?

A surplus arises at market prices above the equilibrium price.

4.
What happens to the price when there is a shortage?

A shortage causes the price to rise, decreasing quantity demanded and increasing quantity supplied until the equilibrium price is attained.

5.
What happens to the price when there is a surplus?

A surplus causes the price to fall, decreasing quantity supplied and increasing quantity demanded until the equilibrium price is attained.

6.
Why is the price at which the quantity demanded equals the quantity supplied the equilibrium price?

At the equilibrium price, the quantity demanded by consumers equals the quantity supplied by producers. At this price, the plans of producers and consumers are coordinated and there is no influence on the price to move away from equilibrium.

7.
Why is the equilibrium price the best deal available for both buyers and sellers?

The equilibrium price reflects that the highest price consumers are willing to pay for that amount of the good or service and is just equal to the minimum price that suppliers would require for delivering it. Demanders would prefer to pay a lower price, but suppliers are unwilling to supply that quantity at a lower price. Suppliers would prefer a higher price, but demanders are unwilling to pay a higher price for that quantity. Hence neither demanders not suppliers can do business at a better price.

